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Q2.

Q 3.

Q4.
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TestPaper

frafafaa et w foar sifse-

1. SHEd IR qEIERIfG enfe &1 sreme
A sl e o sidqud frarSTare |

2. U IYUEl U Scaeeh 3Mfe o snffew
TR HI LTI AN NI FHgaArdn
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Suded W @ wA W/R weT wE
/€ ?

(a) e 1

(b) A 2

(¢c) 1323+

(d) A1 AAE 2

frafafea & F ®IF-91 €8T 9Rd |
HHhe T¥6] 3cuTe (SHETdY) St TOTET whlar
2?

(a) TSI HifeTqen wrEiad

(b) STOTST 3T TR Horerd

(c) WA HifeTen! HeA

(d) R s o

TR I AT W Wahet TS 1T 34TE (NNP)
frrefafaa 9 | feae sew 2 ?

(a) W’qm@rﬁw

(b) A AW FH

(c) T M & TR

(d) THIM Hhel W] IS U 3fereh

ET 3MT A@hT | MY g’ Fefda

AT B -

1. o o o s o U Aifeew S € @ @
T % feTe fepam ST |

2. @ o & Siwdl 1 sgEn Hifess S €Y. di
o feru fepan siran e |

3. TS o i ShIHd] 1 ST aredterss i, €1, .
Sl T o T e ST 2 |

STHF A A BTG/ A HAT T E/2-
(@) Hael (b) Heel 132
(c) Haa3 (d) SudFasdh

Q1.

Q2.

Q 3.

Q 4.

Consider the following statements-

1. GDP, employment, inflation etc. are
studied under macroeconomics.

2. The study of economic behavior of a
consumer, a producer etc. is called
microeconomics.

Which of the above statements is/are
correct?

(a) only 1

(b) Only 2

(c) Both 1and 2

(d) Neither 1 nor 2

Which of the following organizations
calculates the Gross Domestic Product
(GDP) in India ?

(a) National Statistical Office

(b) Ministry of Commerce and Industry
(c) Indian Statistical Institute

(d) Reserve Bank of India

Gross National Product (NNP)atfixed
costis equalto which of the following ?
(a) more than national income

(b) less than the national income

(c) equal to national income

(d) always more than GDP

year” in national income

accounting refers to-

1. The year in which the income is used for
monetary purposes.Usedto calculate G.D.P.

2. The year's prices are used for monetary

G.D.Pisusedtocalculate.

“
Base

3. The year in which the prices are used is
theactual. Used to calculate G.D.P.

Which of the above statements is/are

correct?

(a) only1 (b) 1and?2only

(c) only3 (d) Allof theabove




Q5. fiAfafega & & W& &®¥9 &1 YA@ Q5. Choose the correct statement from the

ﬁﬁm— following-
(a) NNP = GNP + HcI@d (a) NNP = GNP + Depreciation
(b) NNP - GNP = HcIg™ () NNP — GNP = Depreciation
(¢) NNP + GNP = I8 (c) NNP + GNP = Depreciation
(d) NNP = GNP — HcIg™ (d) NNP = GNP — Depreciation
Q 6. TA=farEa Q‘:ﬁ Ea) '{T@TI' I H Q6. List the following sectors in descending
3Tk ‘€ﬁ11a'l'—|‘ % STaUEr  wmH W@l order of their contribution to the national
odarge- income:
I GIRED I. Tertiary Sector
II. %?ﬁw?ﬁﬁ II. secondary sector
TI1. Jrefieh &t III.primary sector
= ﬁ"{ MT ke HT WeTIdT 9 W&l S Select the correct answer with the
ﬂﬁlﬁ'— help of the code given below-
(@) 1 II 111 (@) 1 II 111
(b) 11 I 111 (b) 11 I 111
(c) I 1 I (c) IMI 1 II
(d I 1I I (d I 1I I
Q7. ﬁﬁm?ﬁﬂ?ﬁww— Q 7. Consider the following statements-
1. 9 H GHY 9 GDP 3R TSR w1 Heaifd 1. Aggregate demand in the country
W?ﬁ% I determines GDP and employment
2. A IH AT G € df GDP H g fehmg AR 2. If aggregate demand increases, GDP
Hedigrde | increases but employment decreases.
3. If¢ GDP ﬁ?ﬂwwéa‘rmww 3. If GDP and employment are low then it
Hﬁﬁﬂv‘fﬁg\l isdue to decrease in aggregate demand.
HI & ALY & ﬁ?ﬁf u B'CI?:T:I'H HYA A How many of the above statements are correct
Afraarwmas 'FI%"T% ? inthecontextof Keynesianeconomics ?
(a) Had Th (a) only one
(b) HEA Tl (b) only two
(c) Tt <= (c) all three
(d) sﬁﬁ ﬁiﬁ'ﬁ?ﬁ (d) none of these
Q 8. Tr=fafaa W@'Wﬁ_v‘lﬂaﬁﬁ"{ Q 8. Consider the following roles
1. % RITY 1. Bank of Issue
2. RS 2. Loan Controller
3. Wéﬁmaﬁ%@ﬁéw 3. Supervisiontobring about strong banking
4. W%Wéﬂv_{ 4. Banker forthe government
FuX & T qfrersit & ¥ wia-dt yfrerd Which of theroles given above are functions
TeTa e sk oh w1 a1 JieRTi e ? orrolesofthe Reserve Bank of India ?
(a) Faei 1,2 313 (b) herel 13 4 (a) 1,2and3only (b) 1and4only
(c) 1,334 (d) SudFaEsh (c) 1,3and4 (d) Allof theabove
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frafafea & & &I 91 ®OF USTRNRT

IS IR N (fiscal stimulus) T Ifad Ut SHar

2?2

(@) I8 F % fau = faqmo gffea &
o foTu fariiar Sl I HRehR &1 T8 hikaTs
gl

(h) FE W H i Tfafafrdi w weEr 1 %
U TR &I Th TeT ThRIcHS DR
gl

(c) S W ST I gQEl &4 3T @
qoewfs & fEbE &= & e d9g
& |

(d) Torira TETASE ot 39 Ffifd 1 3 Ter %
T 1% IR EN1 U STAYsh FhRIcHS
HRETE B

frrefafaa ® @ = Tstet Hifa frofat

w feemr 22

1. FTHHCHI TG H aeTd |

2. gorehifa & il w1 % o @ e
CEELN

3. WfcHE! ! qehdtd o= |

= feu T e & IUANT wE FET AT

g+

(a) e 13 2
(bh) Had 2 3R 3
(c) e 1

(d) el 1 3 3

ST a@ asIfeT & AR | frAfaiaa w faemr

&

1. 39 Uoe fodm 9d & yEemd H
¥ W i W fU e WA W
=g % gHiar R siifaew wniye
21

2. T9 Hadl Yeautd A A oagen femn
T

IR T T HIT A @RI/ A TETR/E?
(a) e 1

(b) a2

(¢) 1 3R 2 2

(d) TAA1IAAE 2

Q9.

Q 10.

Q11.

Which of the following statements
appropriately describes 'fiscal
stimulus'?

(a) It is an intensive crackdown by the

government on financial institutions
to ensure credit delivery to agriculture
(b) It is an intensive positive action of the
government to promote economic

activities in the country

(c) Related sectors to promote more food
production and control food
inflation

(d) It is a highly positive action by the
government to further its policy of

financial inclusion

Which of the following is part of fiscal

policy decisions ?

1. Changeinincometaxslab.

2. Increasing repo rate to
inflation

control

3. Rationalizing subsidies

Select the correct answer using the
code given below:

(a) 1and 2 only

(b) 2 and 3 only

(c) only 1

(d) 1 and 3 only

Consider the following about the Zero

Base Budgeting:

1. It involves a review and justification of
each and every ministry’s expenditure
in order to receive funding at the
beginning of each financial year.

2. It waspromotedin the seventh five-year
plan.

Which of the statements given above is/

arecorrect ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2




Q12. YRA ® TUST@ @9 & | HAgd Q 12. Which of the following statements is/

Q 13.

frafafas & & &9 91/3 ®ad 98 2

&2

1. At fopdlt St o1 Teieh T T | SR[AT el S
2, a1 Tt WihuRH! ®l ST T H
P HIATEI |

2. HUf 1 TR foRTd g1 8 &t feafa o
YT ST SR AT TET eI € |

= feu T e T STAT wled WE I9Y
CEE
(a) a1

(b) HAA 2

(¢) 132 eMl
(@ T IARAE 2

W | ST U & o | A faraa |

| S 91/9 ST T &/8?

1. 3MIHT Y& 3R Ffaeie ST Wb 1 &
2l

2. WA | T SR W = o Al g9 YRR %
ER TR

= feu T e &1 SUANT wh WE SO
T

(a) e 1

(b) HEA 2

(¢) 13K 2eHl

(d) IUET H W B TR

Q 14. frafafes & ¥ &9 9@ § &N O

?ﬁmw(wﬁwﬁ)aﬁfmﬁwaﬁﬁﬁﬂﬁ

?

1. Suwe wmeE % a8, Fafd @ @ ¥ 13-
T2l

2. Gt & el Shg BT Uk FoRT SITEH iR R
A1 o |12 TS R U I |

3. ER SU9m W WedRd wH W
fou st @ud ol TsAT § SuEgd R
Aftier & SR w9 WUd ot UsAl |
T |

e fer T HIE FHT TN Tk FWET S

ERE
(a) HEA13R2
(c) Heel23R3

(b) HaA13R3
(d) 1,233

Q 13.

Q 14.

arecorrectrelatedtoCapital gainstax

in India ?

1. If the stock of a company doubles in a
years’ time, all stockholders will have to
pay capital gains tax.

2. Capital gainstaxesarenotapplicablein case
thetransfer of property is by inheritance.

Select the correct answer using the
code given below:

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Which of the following statements is/are

true about the taxation system in India ?

1. Income Tax is both direct and
progressive tax.

2. People below the poverty level are

exempted from all kinds of taxes in India.

Select the correct answer using the
code given below:

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) None of the above

Which of the following are not among
the features of Goods and Services Tax
(GST) as implemented in India ?

1. Under the GST regime, exports are zero-
rated in the entirety

2. Alltaxeswill be collected by the Center alone
and then will be shared with the states.

3. GSTrates are high in states with higher
consumption and low in states with
lower consumption to
responsible consumption.

Select the correct answer using the code

givenbelow:

(a) 1and2only

(c) 2and3only

incentivize

(b)
(d)

1and 3 only
1,2and 3
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Q 15. 9RA & "ed o & 3T St arqura & Q 15.

o | frmfafed ® @ &9 91/8 waT 9@t

2182

1. AU B S T 3R 3 ohl Sgeral 9Rd i
g o T Sifres SY--SiEdt erqurd aren
AL |

2. Y F-T-SId ud WHFR & o
T gRem SR i g & fmin §
[RCHEEE K| ECTT e G R

= fou T e &1 ST wS WE SOY
T

D

(@) a1
(h) A2
© 13R2eH

@ FAd1IRAL2

Q6. Frfafaa & | &9 9Rd &R

W US wiftadi wew & ofava oA

2?2

1. AT |

2. g TR R WG 1 T e 301 i ifim
Sl e |

3. SUANTHAl ok

4. fafrewrem
5. UTTEE i |
= fau T e & ST wH WET S

g-:

(@) HaA1, 3 35
(h) e 1, 2 33
(c) wad 4 35

(d) Had 2 3 4

Q 17. gfgefir Usit Saurew  rgurd (ICOR)
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& 9 A frAafafiaa st T faamr &1

1. I8 3T hi Ueh SHTE hl 92 o [T AT
ARSI |

2. IMEESNAR a1 ®7 e, Fwed I &
Ik A EA |

ST HIT H AR/ AT/ ?

(a) a1

(b) HAA 2

(¢) 132 Ml

(@ TA1IARAE 2

Q 16.

Q17.

Which of the following statements is/
are correct about the Tax to GDP ratio
in the context of India ?

1. A high rate of taxation and a multitude
of taxes make India a country with the
highest tax-to-GDP ratio in the world.

2. Low tax-to-GDP ratio makes it difficult
for the government to invest in social
security and infrastructure creation.

Select the correct answer using the
code given below:

(a) 1 only

(b) 2 only

(c) Both 1and 2

(d) Neither 1 nor 2

Which of the following falls under

the capital receipts component of the

government of India ?

1. Interest Receipts.

2. Recovery of loans and advances made by
the union government to PSUs.

3. Usercharges

4. Disinvestment proceeds

5. Dividends from PSUs.

Select the correct answer using the
code given below:

(a) 1, 3 and 5 only

(b) 1, 2 and 3 only

(c) 4 and 5 only

(d) 2 and 4 only

Consider the following statements

about Incremental Capital Output

Ratio (ICOR):

1. It is the additional capital required to
increase one unit of output.

2. The lesser the ICOR, the more efficient
the organization.

Which of the above statement(s) is/are

correct?

(a) 1only

(c) Both1and?2

(b) 2only
(d) Neither 1nor?2




g ° feger fewe a8 wr mar

2?2

1. e g gend |

2. a% fafma & aremm o axqsi vd ganst
-

3. T L HY RIS i TS FaT |

e far T wIE HT SUTT Fea I
Wﬂﬁ

(a) e 1

() el 1 3 2

(c) wad 2 3R 3

(d) Had 2

Q 19. Frrfafaa & & *9-91 s ST

fewter wisg w1 wEr otk waTar

2?

(@) AEEE SIS R aredfaes  Sterd
F U I WEd fEwex wer S
2|

(b) TAHEE SEM R ardtaes STEdt W
a9 & iR Wl S fewiey el S
2|

(c) &g SR ATHHE SISl % U i
STt fewerex wet ST 2 |

(d) aTEfge STEd SR AmEE S
& o o 3fd¥ Wl S fewelel el S
2|

Q 20. frAfatEd gt W faar =1:

1, AfFTd VAT W™ 98 gy ®
a0 fedi =feq o1 9RarR &1 smEeR
§ Herdl o a1 Wd ST AT g9 Bl
2|

2. grdfaes SHEMdl adu yafad SiEdi W
St gea g

T feu U wyAT ® € 9 9/9 9@
7/E?

(a) e 1

(b) a2

(¢) 1 3R 2 2

(d) TAA1IAAE 2

Q 19.

Q 20.

Q 18. HhoT Tl SIS & 3Mherd H fterEaa Q 18. Whichofthefollowingisnotaccounted

forintheestimationof GrossDomestic

Product?

1. Services by housewives

2. Transaction of goods and services
through barter

3. ServiceprovidedbyanIT company

Select the correct answer using the
code given below:

(a) 1 only

(b) 1and 2 only

(c) 2 and 3 only

(d) 2 only

Which of the following terms correctly
explains the meaning of the term GDP
Deflator ?

(a) The ratio of nominal GDP
to real GDP is called GDP
Deflator.

(b) The difference between nominal

GDP and real GDP is called GDP
Deflator

The ratio of real to nominal GDP is
called GDP Deflator.

The difference between real GDP
and nominal GDP is called GDP
Deflator

(c)

(d)

Consider the following statements:

1. Personal Disposable Income is the
amount of money that an individual or
household has to spend or save after
income taxes have been deducted.

2. Real GDP is the value of GDP at the
current prevailing prices.

Which of the statements given above
is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1and 2

(d) Neither 1 nor 2
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Q21.Wmm(ﬁlgidl)aﬁ'{wm Q 21. Consider the following statements

IaTe (SHTdT) | Weitaa feafaiad et

¥ faam 1

1. SEq sied ®9 9 3@ SR H ® 6
IAEd wEl el @ Sefh SieAd 39
R H 2 fF THRI IR i Il
21

2. e T Ueh et srefeesen € af sieadt gven
e TS en |

3. 9fe I8 U s refeeen € a1 SEd gHwm
ST o aRTE B A |

I ® W SIM-6T %99 6§ Ad ¢
&2

(a) a1

(bh) Had 2 3R 3

(c) a1 3R 3

@ 1,2 3”3

Q 22. GoI AT A AT ATeUH 2 ?

(@) THI & Wy fRE 9% w1 &Ed o
gig |

(b) T feafd SEl UH EOIAE STAT-ITAT
SIS 1 ST - ST ShIHd] G =1 STl
2|

(c) fFdl I ® HH HEA W 9=A
% fau wWer gw@ G
T

(d) 99 % Y R o w FEd § qE
U |

Q 23. Frefafeas & ¥ SI9 9RT | Ueaer & ot

08

U | AT ?
1. frmE

2. 3G Yesh
3. SETIHRA R
4. AT YeH

= fau T e HT ST FH WET I
T

(@) HaA1, 2 33

(h) e 2, 3 3R 4

(c) wad 133

(d) Haa1, 3 3 4

Q 22.

Q 23.

relatedto GrossDomesticProduct (GDP)
and Gross National Product (GNP):

1. GDP is essentially about where
production takes place whereas
GNP is about who produces
it.

2. If it is an open economy then GNP will
always belarger than GDP.

3. If it is a closed economy then GDP will
always be equal to GNP.

Which of the above statements is/are
true ?

(a) 1 only

(b) 2 and 3 only

(c) 1and 3 only

(d) 1,2 and 3

WhatismeantbyPrice Discrimination ?
(a) Increase in price of a commodity over

time
(b) A situation where the same product is
sold to different consumers for

different prices

(c) Subsidization of a product by the
Government to sell it at a lower
price

(d) Generaldecreaseinpriceofacommodity
over time

Which of the following comes under
the category of direct taxes in India ?
1. Corporationtax

2. ExciseDuty

3. Inheritancetax

4. ImportDuty

Select the correct answer using the
code given below:

(a) 1,2 and 3 only

(b) 2, 3 and 4 only

(c) 1and 3 only

(d) 1, 3 and 4 only




& dog " faefafaa st W faar

w:

1. IE IH A I T S arell HL 8 S Toh
T ST SIERERT Rl 31T TR T ST
AR

2. SIS T SFIAT AT WIS HIA arelt TR
O g1 TR ST 2, = foh wredehdl SRRURE
Rl

W fEu U wodi § | @ ®/d 2/
&2

(a) a1

(b) e 2

(¢) 132 eF0

(@ FA1IARAE 2

Q 25. Aa fawr@ ga&iew (HDI) Ta=fafea

¥ 9 few mam & mar w et
G H  3Ed IUAST  H  HIUAT
?

. T e 3R Ty e |

. AATRIEA |

. TH IS =R |

. WTHISTR G |

= fou T e &1 ST w WE SOY
o

(a) HaA1, 2 3R 4

(b) HEA 2, 3 3R 4

(c) e 1,3 3R 4

(d) wad1, 2 33

I 14

A W N -

Q 26. HFE Uit & H@eag ® f=faied soet ™

faam

1. T8 U IHd YR |

2. TSt sferen STEEE BN, Sat st A
B |

FuT fEU 7T woA § | Hi-|1/d et B/

g2

(a) Had 1

(b) e 2

(¢) 13R 2 eHT

(@ FA1IARAE 2

Q 25.

Q 26.

Q 24. YA A A9 faavor T (1Y) sJaeemT  Q 24. Consider the following statements

with regard to Dividend Distribution

Tax (DDT) regime in India:

1. It is a tax levied on dividends that a
company pays to its shareholders out of
its profits.

2. The DDT is paid by the domestic
company sharing the dividend and not
by therecipient shareholder.

Which of the statements given above
is/are correct ?

(a) 1 only

(b) 2 only

(c) Both 1and 2

(d) Neither 1 nor 2

The Human Development Index (HDI)
measures the average achievement of a
country based on which of the following
dimensions ?

1. Along and healthy life.

2. Accesstoknowledge.

3. Adecentstandard of living.

4. Social Security

Select the correct answer using the
code given below:

(a) 1,2 and 4 only

(b) 2, 3 and 4 only

(c) 1,3 and 4 only

(d)

Consider the following statements

regarding Human Capital:

1. Itisanintangible wealth.

2. The greater the population, the greater
isthe Human Capital.

1, 2 and 3 only

Which of the statements given above
is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1and 2

(d) Neither 1 nor 2

09



Q27.3Ye H  whise

Q 28.

Q 29.

10

(3TgETHY)

oy H frAfarEa saat W faar

&Y

1. IE SMILYE TR YT fhT ST I1ed il ¥ T
R YT R T U R T TR € |

2. U8 HAYH & AU UWH hl FHH HIl
21

3. SIS T o d8d Sier JMESH! &1 erdn
BEHETE Il

T f5U MU wuAt § ¥ ST 90/H g6 e

#?

(a) a1 3R 2

() el 1 3 3

(c) wad 2 3R 3

d 1,2 3R 3

e ure & e # fefafad st w

faam

1. T8 A 98 % ISREE AR SR e
SHRI T A YA & a9 iR &l "efifa
HIATE |

2 I8 SUR & IW AR A war 2
N WER H S T2h Hl BIEHT
ATIHATE |

FUX 2T U FwoA § @ &I 91/F 9 2
&2

(a) e 1

(b) A 2

(¢c) 1 3R 22

(d) TA1IAAE 2

=T & faauwor & gesf |, fr=fafaa o=t

¥ faam 1

1. T 372 & ToTEa W 311eh o o gRomHEaEY
B1 STed ST % Y1 3 o TeIT & Seq= el

2. 3HY sreforawen | qeTehifa & gara o T e
e |

TR fEu T woT ® | ST 91/9 9
&2

(a) a1

(b) HEA 2

(¢) 132 Ml

(@ Fq1ATE 2

Q 28.

Q 29.

& Q 27. Consider the following statements

with regard to Input Tax Credit

(ITC):

1. It is the subtraction of the taxes paid on
inputs fromtaxesto be paid on output.

2. It reduces the cascading effect of
taxation.

3. Dealer under
cannot claim ITC.

Which of the statements given above is/

are correct ?

(a) 1and 2 only

(b) 1 and 3 only

(c) 2 and 3 only

(d) 1,2 and 3

composition scheme

Consider the following statements

regarding Primary deficit:

1. It refers to the difference between the
current year's fiscal deficit and interest
payment on previous borrowings.

2. It indicates the amount of borrowing
which the government needs excluding
the interest component.

Which of the statements given above
is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1and 2

(d) Neither 1 nor 2

With reference to Deficit financing,

consider the following statements:

1. Itmeans generating funds to finance the
deficit which results from an excess of
expenditure over revenue

2. It reduction
inflationary pressure in the economy.

Which of the statements given above is/

arecorrect ?

(a) 1only

(b) 2 only

(c) Both 1and 2

(d) Neither 1 nor 2

may lead to a in




Q 30. TS TS ol HH H{A & fau frAfaf@a & @ 30. Which of the following policy initiatives

Q 31.

{ I Gt AT Tger St ST Gehdl € ?

1. o, G T S HH LAl

2. AfcHSIHASBIA

3. R TIR Y FT AT

o feu T @is & IUANT Heh WEt IR
T

(a) wae 1 3R 2

(b) a2 3R 3

(c) Had 3

@ 1,2 3R3

A referazen & wed |, feanefnfae

372 T AT &

(@) THEE "
T |

(b) =T W1 | 3R IASTRIGT HET Tk A
Hfed g |

(c) THh WY =] @Al =el dR YSh @rar
T |

@ d® #  IR-Fowfeq snfeEi s
FOReT & WO H TH WY
eIy

BRI NEEE]

Q 32. UHA TR 3IAE HbHe We] IS

¥ ¥ 9HMEST e UTed feRar  STar
T

(a) TS ST I

(b) HTARTH

(c) HETERId

(d) o9 ¥ s wRe ™

Q 33. IS "¢ & Had H, wrafass =TS &

ded # frafafaa wawt w fauw

HTST:

1. WAfE ST A P & §1E YA R
TS el TR SUNR |

2. YRA H WU e Wed ASRET w0 9

sfusr graTe |

ST H A RI-HT/ A RATHE S/ ?
(a) a1

(b) HAA 2

(¢) 1792 3MM

(d AM1TE2

Q 31.

Q 32.

Q 33.

canbetakentoreducetherevenuedeficits ?
1. Cuttingdowntheburden of salaries, pensions

2. Reducing subsidies

3. Takingaloanfrom the domestic market
Selectthe correctanswer using the code
given below:

(a) 1and 2 only

(b) 2 and 3 only

(c) 3 only

(d) 1,2 and 3

In the context of Indian economy, the
term 'Twin Deficit refers to

(a) Revenue deficit accompanied with
Fiscal Deficit.

Occurrence of Current Account Deficit
and Fiscal Deficit together.

(b)

(c) Simultaneous Current Account Deficit
and Capital Account Deficit
(d) Simultaneous rise in the Non-

Performing Assets of banks and debt-
burden of the corporates

Gross National Productis obtained from the
Gross Domestic Product by adjusting it for
(a) Net Indirect taxes

(b) Depreciation

(c¢) Inflation

(d)

In the context of budgetary deficits,

Net factor income from abroad

consider the following statements

with reference to Primary Deficit:

1. Primary Deficit is the total government
borrowings available to utilise after
interest payments.

2. Primary Deficit in India is always
higher than the Fiscal Deficit.

Which of the statements given above is/

are correct?

(a) 1 only

(b) 2 only

(c) Both 1and 2

(d) Neither 1 nor 2
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Q 34. Tt o & Wiﬁ@m (S.Et.d1.) &% Q 34. Which of the following is/are correct

Haryr ® frafafiaa & @ &i=-97/8 wa= 98t

BIE?

1. T8 fedi fem ad A feR 2w
CA MR i O | M S CO B
Feqell SR Warsh & Wew H oF@ A
21

2. -tifgw fafrma S o fafma =t
Sierdt egae o wifter @ fREn S
21

3. %A W IS § g5 Fg Qe & R o
o [l Foramt <t 3rel ol et | seaR feafa
AR

= fau T e HT STATT FH WET S

g

(a) e 1

(h) e 2 3R 3

(c) wad 1 3R 2

(d) Had 1 3R 3

Q 35. Frrfafaa & @ 9-9T U9t OerE

gre kI Haide ®T 9 URWTNT T
27
(a) ISl dlc] HigAd ol ‘tl"l('ll"il

(b) ST HITET - YSTNTd UiREaiit & goi o forg

ST ST T

(c) TSE  ®EI - dd9 R U9IH W
= |

(d) TTEE Wl - W SR e Wl
T |

Q 36. SIS & G H 'Y Y’ 976 T qTcqd

12

3-

@ =g fadm 3 ¥ gd @
ELl

(b) T TR T RIS o |

(c) a8 a8 FSTEe wHHdr &1 YA arEdafaeh
el TY] ITUTS i VT o T fofam ST Tet
2l

(d) e 9 a1 A9 Gehel W] IS =1
T8 % ITEAfae Gl ¥Re] IS & aRIe

2|

Q 35.

Q 36.

withregard to Gross domestic product

(GDP) of a country ?

1. Itisthe sum total of the value of goods and
services created within the geographical
boundary of a country in a particular
year.

2. Non-monetary exchanges such as
barter exchange are not included in the
GDP estimation.

3. A rise in GDP indicates that all the
residents of the country are better off
today than in the past.

Select the correct answer using the
code given below.

(a) 1 only

(b) 2 and 3 only

(c) 1and 2 only

(d) 1 and 3 only

Which of the following best defines

effective revenue deficit ?

(a) Revenue deficit minus the interest
payments

(b) Revenue deficit minus the grants for
creation of capital assets.

(c) Revenue deficit minus expenditures on
salaries and pensions

(d) Revenue deficit minus the external
grants received.

The term ‘base year’inrelation to GDP

refers to

(a) the year preceding the current financial
year.

(b) the starting
decade.

(c) the year whose prices are being used
to calculate the real GDP.

year of a new

(d) the year whose nominal GDP
is equal to real GDP of current
year.




Q 37. f=fafaa us = utftaal WX fa=® Q 37. Consider the

&

1. HSTEA |

2. Fg WEHR FR T MW Wi W AW
el

3. %5 WHR s fw oW w
e |

4. faeerdwea |

Sudad ® ¥ WA W wiftaar wra
g{iﬁnaﬁmuﬁﬁ%mﬂaﬂﬁ
W,

(a) wae 1 31R 2

(b) HEA 3 3 4

(c) a1, 2 3 3

(d) a1 3R 3

Q 38. frfafaa & | foe v oo

Q 39.

TRE] IS & W & &7 | yiHer fwar

ST ?

1. SHERT § HTH HH OTd AT AN 6
ERl

2. RA W HERA UH HA SO gR1 i a
Y |

3. SO | HEd Tk IR et grRn st
e |

= fau T e & ST wH WET S
g

(a) e 1

(b) a2

(c) wad 2 3R 3

(d) Had 1 3R 2

gm%mﬁﬁ,wmﬁw

(a) YT & foTU HiaRe doiq 3ie W fegmn
T = |

(b) FR F TIEU H WHR TN FA T
=Y |

(c) T IR YRMERTR ST & T ®Af gRI
foparm T = |

@ Foamd R W R AT H ER
AT

Q 38.

Q 39.

following types of

receipts:

1. Taxrevenues

2. Interest receipts on loans extended by
Central Government

3. Recoveries of loans granted by the
Central Government

4. Loansreceived from abroad

Which of the receipts given above
come under the revenue receipts of
the Government of India ?

(a) 1and 2 only

(b) 3 and 4 only

(c) 1,2 and 3 only

(d) 1and 3 only

Which of the following would be

included as

GDP?

1. Salary of a citizen of India working in
the US.

2. Profits earned by a German company
operating in India.

3. Profits earned by an Indian company
operating in Japan.

part of the Indian

Select the correct answer using the
code given below.

(a) 1 only

(b) 2 only

(c) 2 and 3 only

(d) 1 and 2 only

In the context of the economy, tax
expenditure refers to:

(a) the expenditure shown on corporate
balance sheet to avoid taxes.
(b) the expenditure incurred by the

Government in the collection of taxes.
the expenditure incurred by firms for
tax and administrative compliance.
the opportunity cost of taxing at
concessional rates

(c)

(d)

13



Q 40. IATEA & UaTe | fowdt a¥g & 3ifaw a¥& Q 40. Whichofthefollowingis/are essential

Q 41.

B o fore frraferfaa o @ wie-w fagroarnd

IMATTE 2 ?

1. T8 UGN S % ©U H AR |

2. sfdfe wfwan o TEd @ iR aRada T
B

3. FEiR-RaHs yHfawemT=ey|

= fau T e HT STATT FH WET I
g

(a) Had 2

(h) el 1 3 3

(c) wad 1 3R 2

(d) Had 2 3R 3

frefafea waat W faar =
1. gd  HEdl R HehA Hed g H
3w WA T ?od d9%

W IeAsl  Icqed HieHE  wmiHd
2l
2. ISR oA W THA e IO H

S 3R SAE w qE I ©
T IS 3R S1E HisHS! SH1 vNtHel el
g

Suded § W WA 9Y/A wud W@ g/

&2

(a) Had 1

(b) e 2

(¢) 1923t

(@ AM1TE2

Q 42. TSRITT STHENTea AN ooie waieq (

14

TS TR ) rfafaahEed o, Ffafaa

HUAT W faamr a1

1. THSTRETTH ATURTIT SRS 5T 3¢ T
F wfayfadt & wafre fFriE @ i ®
EIRECKRIGIES

2. UHARETH A= & qed FHE @ 32
e TTeHR o TSTeh U9 BT ol EeH TS |

ST H A RI-HT/ A RATHE S/ ?
(a) a1

(b) HAA 2

(¢) 1792 3MM

(d AM1TE2

Q 41.

Q 42.

characteristics for a good to be a final

good in the flow of production ?

1. Itmustbeintheformof aconsumptiongood.

2. It does not undergo any further
transformation in the economic process.

3. Itmustbenon-durable in nature.

Select the correct answer using the
code given below.

(a) 2 only

(b) 1 and 3 only

(c) 1and 2 only

(d) 2 and 3 only

Consider the following statements:

1. Gross Value Added at basic prices
excludes production taxes and include
production subsidies available on the
commodity.

2. Gross Domestic Product at market
prices includes both production and
product both
production and product subsidies.

taxes and excludes
Which of the statements given above is/
arecorrect ?

(a) 1only

(b) 2 only

(c) Both 1and 2

(d) Neither 1 nor 2

WithreferencetotheFiscalResponsibility
and Budget Management(FRBM) Act,
consider the following statements:

1. The FRBM Act bans the purchase of
primary issues of the Central
Government securities by the RBI.

2. The rules under the FRBM Act aim to
eliminate the fiscal deficit of the
Central Government.

Which of the statements given above
is/are correct?
(a) 1only

(c) Both1and?2

(b) 2only
(d) Neither 1nor?2




(SEdt) =t TUET Hed 9uE fEfatad

g ¥ fHT wReRl & &a § @1 Srdr
?

1. sifea R sudT ==

2. HeEHEdl Tl R

3. SifqAgsiTd ="

4. SUSTIR v O ST =

= feu T e T STAT wled WE I9Y
g1

(a) el 1 3R 4

(h) a1, 3 3R 4

(c) Had 1 3R 3

(d) e 2, 3 3R 4

Q 44. frmfafes & & wm  wguwwed

TSR FAfd & H9Tfad AT & Fehel

&2

1. fosit em & forw @t # 9w A A
HH

2. Tadst faelsld #r wfsmEr
FHrdl

3. e TR SRR REmE A gy

TR fer e wd s g |
(a) Had 2

() 1,2 3R 3

(c) e 13 3

(d) Had 3

Q 45. Hh AT & Heo °, F=faiea st «

faem =

1. ®N& ANd H Hhedl Sced & heh
Py A e g € |

2. ®Re% @A H HIE W WA el
2|

Iuded § ¥ HF G/R wIT T A ¥
&?

(a) a1

(b) HEA 2

(¢) 1792 3Mr

(@ W18 2

Q43. g fafgy g1 wWH@ W@ AT Q43

Q 44.

Q 45.

While calculating the Gross Domestic

Product (GDP) by expenditure method,

which of the following factors are taken

into account ?

1. Finalhousehold consumption expenditure

2. Expenditureon intermediate goods

3. Final capital expenditure

4. Government expenditure on unemployment
allowance

Selectthe correctanswer using the code

givenbelow.
(a) 1 and 4 only

(b) 1, 3 and 4 only
(c) 1and 3 only
(d) 2,3 and 4 only

Whichofthefollowingcanbethepotential

traits of a Contractionary Fiscal Policy ?

1. Decreaseintaxrates of vehicles in order
toincrease the sale

2. Reduction in subsidies of LPG cylinders

3. Increase in government expenditure on
infrastructure development

Select the correct answer from the code

givenbelow.

(a) 2 only

(b) 1,2 and 3

(c) 1and 3 only

(d) 3 only

With reference to the factor cost,

consider the following statements:

1. Factor cost includes the payments to the
factors of production only.

2. Factor cost does not include any

tax.

Which of the statements given above
is/arenot correct?

(a) 1only

(b) 2 only

(c) Both 1and 2

(d) Neither 1 nor 2
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Q 46. Frefafead & @ &9 9 TST-W0T &40 &1 Q 46.

Q 47.

Q 48.

16

g Ud War & (SuEeT) & eiaita yniae
fraT T 2 ?

1. faenfaars

2. famiex

3. WY
4. 9

= fau T e HT STATT FH WET I

T3-

(a) a1 3R 3
(h) e 2, 3 3R 4
(c) 1,2,33R4
(d) &A1, 2 3 4

feaird 3T (PI) Rl TOET A

&% fou, fr=fafea o ¥ fow ™

I (NI) § Yerar ST Aravaeh

2?

1. SAfgafkaenry

2. IRERI R o T2 Y[g =TS AT

3. HARE®HT

4. WXHR AR BHT W TRER 1 Y s&dieid
AT

= feu T e & IUATT HE FET ST

g1

(a) e 1 3R 4

(bh) wEA1, 2 AR 3
(c) Had 2, 3 3R 4
@ 1,2,3, 34

T g, Frafafaawei wfaar

HTST:

1. YodgT fehdl YSivTd o i 2e-he & foTe U
qTftfes Ao e |

2~ YSTHT TEq it ok STAeRTa fermrer bt e o ek
TEAIe |

?mwmﬁﬁﬁﬁwmlﬁﬂﬁ%/

W,

(a) A 1

(b) e 2

(¢) 13R 2 eHT

(@ FA1IARAE 2

Q 47.

Q 48.

Which of the following state-level
taxes have been subsumed under
Goods and Service Tax (GST)?
Luxury tax

2. Salestax

3. Stampduty

4. Octroi

—_—
.

Select the correct answer using the

code given below.
(a) 1 and 3 only

(b) 2,3 and 4 only
(c) 1,2,3and 4
(d) 1,2 and 4 only

In order to calculate Personal Income

(PI),whichofthefollowingisrequired

to be subtracted from the National

Income (NI)?

1. Undistributed Profit

2. Net interest
households

3. Corporatetax

4. Transfer payment to the household
fromthe government and firms

payments made by

Select the correct answer using the

code given below.
(a) 1and 4 only

(b) 1, 2 and 3 only
(c) 2,3 and 4 only
(d) 1,2,3,and 4

With reference to depreciation,

consider the following statements:

1. Depreciation is an annual allowance for
wear and tear of a capital good.

2. Depreciation does not take into account

unexpected destruction of capital goods.

Which of the statements given above
is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1and 2

(d) Neither 1 nor 2




HAT LT LT ?

(¢) AHD Gsft 37d ? 2R 30 SR § A 9
ST AL} T Heha |

(b) Mfereh Gt o faoia, e it T9 & Wy
%Y T Bl ¢

(c) T Gsit ¥ 7 hael HIfesh Sl dfesh AT
Y Y G 1 A9 B |

() gﬂﬁ@}ﬁ%&ﬁ%aﬁa%:nﬁaﬁﬁﬂﬁ

|

Q 50. GHGNT vt & Had |, freafafad o=t

fa=me st

1. THITE S Y H R STATSCAE |

2. WRY ¥, 38 feftea Yansii(fammamt) = farsht
TR AN 3R AT o1 ST 9T H 3 ¥~ R wHi
REECERIRE

Suded W @ &I &I ¥ wAT W 2/
&2

(a) a1

(b) e 2

(¢) 13R 2 eF0

(@ FA1IARAE 2

Q 50.

Q 49. HTE Ysit & Heier § Frefafad # A ®wIM-|1  Q 49. Which of the following is not correct

regarding human capital ?
(a) Human capital is intangible and cannot

be easily sold in the market.

Unlike physical capital, human capital
does not depreciate with time.

Human capital benefits not only the

(b)

(c)
owner but also the society in general.
Human capital is not perfectly mobile
between countries.

(d)

With reference to Equalisation Levy,

consider the following statements:

1. Itisalsoknown as Google Tax.

2. Initially, it was applied to the sale of
digital services (advertisements) and
later extended to e-commerce firms.

Which of the statements given above
is/are correct?

(a) only 1

(b) only 2

(c) Both 1 and 2

(d) d. neither 1 nor 2
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